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TOCRRFMN TRF, AWM / General Instructions to the Candidate :
I . Cut here/¥® 3302
1. 33 @5‘1@%50530 W) 34 @%ﬁ%’&& TRONT. > "2
This Question Paper consists of 34 questions. *
2. B [IBYIOTY HIND WFW TweT BT (2eF) TRERNT. T
T, BOLmndE BRo0308 Q) & FTS,Fob LoD ToIFTI FFOL (WS STOR),
DBO I I F507IeR. BT TS, FONY, D, RN 9TOIOE 0T TOEFRERY,
This question paper has been sealed by reverse jacket. You have to cut on the
right side to open the paper at the time of commencement of the examination

( Follow the arrow ). Do not cut the left side to open the paper. Check
whether all the pages of the question paper are intact.

3. BINR SRLT0 JRBSNTRY, TOR.
Follow the instructions given against the questions.

4, WO mﬁa’@ﬁm%&w 903N @%ﬁ@ﬁmw TpedE @oﬁmfa‘g{ ASN SV
Figures in the right hand margin indicate maximum marks for the question.

5. BIWHIODNTY, WOBRYLO 15 WWIME DO[TTP)  FeOTOE,  GWZOTLD
AROTAROIR 0TI, T I B, 3oh BeNTE, DRSNS,
The maximum time to answer the paper is given at the top of the question paper.
It includes 15 minutes for reading the question paper.

6. IR LTORLRNTOT TFWE T ©F & ( Version ) BB Y BFe3 T3,
BOY,FIINTOT T3 8,303 &3 & 00T SNTPYTIY, 59TOTRERY,

Ensure that, the Version of the question paper distributed to you and the
Version printed on your admission ticket is the same.
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I.

31 TONT JINOR P WTRr TeVINOR Towy SORRIR) VRN

SPYNED T, BRFRT LOITITY, @O, WTT T [RFITILODR Fpeor
LOZ TR, WD 10 x 1 =10

Four alternatives are given for each of the following questions /

incomplete statements. Choose the correct alternative and write the

complete answer along with its question number and alphabet :

1. 3redor 6%@52 5T O0WB/INTOE 903

(A) TICL VT
(B) o®m3@ Ien
(C) TR0 BoewTTW TR

(D) WOB®IT deﬁfae:ﬁﬁr

Rolling resistance depends upon

(A) Slope of the road

(B) Speed of the vehicle
(C) Materials of the road surface

(D) Vehicle's acceleration

2. FANFT BOPRFTD ®m65§ VTITOH

(A)

>

(N (B) ,68%3 S©

(C) Fedn,edado o (D) oede, e S o
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An example for natural lubricant is

(A) Grease (B) Animal oil

[Offa

(C) Petroleum oil (D) Commercial grade oil

3. DOTIT ms&d 3500 QETO® 3T

(A) R oo (B) B
(C) Rore (D) 2O OO

The component that supports the weight of the vehicle is
(A) Strut road (B) Strut

(C) Spring (D) Ball joint

4, f&w Bé)@f B3 OWTE eszipe WERT QOTOR airaecé%oda@{ ﬁmwﬂ
LVTO3RCNTIT OBRNTD

(A) TOTONL (B) wﬁ%ﬁe;g g

(C) POTZT w3 TWTINE (D) 83,5

~
Stub axle without rigid axle beam type is widely used on
(A) Cars

(B) Buses

(C) Heavy commercial vehicles

(D) Trucks
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5.

| 88-EK (Level-2) |

QTS TR WRT/ED 0PI T QeIOTFRIY VTS RENTIZ €S

(A) ez N B) ovxd

(C) 3@ D) RARSD

Lubrication is used for reducing

(A) Cooling part (B) Temperature

(C) Pressure (D) Friction

QOB %@ méswwa‘% 9803000 WHRIT QVTTTED

(A) SOV QOTF (B) R

&3 S

(C) o &= F (D) =OF

[ae]

The tool used to check the oil level in the engine is

(A) Oil filter (B) Dip stick

(C) Oil drain plug (D) Funnel

[

1.

TOT DT YPOT® BT T, 3EReCT® WAAT JOST WHSOOWEIET ?

(A) 45,000 km (B) 30,000 km

(C) 50,000 km (D) 70,000 km

A car's air filter should be replaced after

(A) 45,000 km (B) 30,000 km

(C) 50,000 km (D) 70,000 km
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8. TT) BRYO30TIN F90J ﬁae%wséojo@t WTRLL WHROT B[R

Q) wmg TN (D) AT W,

Med

The material used to wipe the roof of the car while washing the

car is
(A) Paper (B) Sponge

(C) Tissue paper (D) Plastic brush

9. TOT B WHRBE [RBLICTITN 59059, AT BOOIRT 8,30

(A) T ﬁmm%d@p%, @9, 0T 0,05 TodTuedd,  Q0edy*
%ﬁéﬁ@o@dzﬁeﬁo

¢ ‘-
(B) BT a@m@ﬁ@;’% @, 0T 23,05 TodTLIeB), QoW WOR

&=3NT3eBD

(C) T JIODWTYT, T, 0= w,65° TFTLIR), VOWT LW
esNTeIesd

(D) T30 ﬁem@&d@p%, 39, 0T 3,65°  ToSTLIRTT,  QoWS®
BNIreoRTeE :
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The correct way of parking the car while changing the oil in the

car is

Y

(A) Car should be on a level ground with hand brake on and

engine off
(B) Car should be on a slope with hand brake on and engine on

(C) Car should be on a level ground with hand brake on and

engine on

(D) Car should be on a level ground with hand brake off and

engine off

10. 1978 T ©BQONY, 5059, ABS 7 FF030Y [etd, ZRTOR e¢mmad

FOI
(A) TR0 (B) .00.3WQ,
(C) =R Jos® (D) @D

The first company to introduce "ABS" system in cars in the year

1978 is
(A) Honda (B) BMW
(C) Mercedes-Benz (D) TATA
II. TRTTT LWITROT zb&idoﬁ :‘é@daﬁg{ W3 [RB : 4x1=4
Fill in the blanks with suitable answer : =
11. 5008 WRNOT SWBNTFIY ..o, NPT LRERRTMITT.

Door windows of cars are held by .................... .
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III.

12.

13.

14.

15.

WA WORT WBY WRWIIR WONTTFIY oo,

£3030T°ED 0T FT0INTIT.

The tube tyres and tubeless tyres are called ................. tyres.
23,65° D02OTI) TWOB/RTT +.ovvvvvveeennnns VB TREITW TTT.

The brakeis a .....c.cceevuvenennee. creating device.

DR, BERI TS LVTCIRCNTOT N, CTENDT WOTD .

A grease gun is @ ......cceeeuenen. tool used for lubrication.

A-ﬁéioﬁa@m esé&'admz‘g’jc:es NTFTLINY wwosmmeéag TonRe B-
a%osoq emmq’@a TR wwsdwms& QCTBRNT. e:as\)m?s%
R0DY emgdmfal gmg\dd@zsﬁ W30 : 4%x1=4

Uses of automobile tools are given in Column-A and
automobile tools are given in Column-B. Match them and
write the answer along with its letter of alphabet :

A-e'v‘é,é 0] B-o'v’égz
Column-A ; - Column-B
) wEEgwnesy ey o a) AT
Removing the wheels of vehicle Snips
i) TR TRBINON b) Qe Tow N
For softer blows Wheel wrenches

iii) ROOWT® LFTT ToGPNFIY, BRTODLY  ¢) Ty, 0T T, T
To create cylindrical holes Hand hacksaw
iv) drexs m@’mf@t FSORLO d) méeﬁw
To cut sheet metals Mallet
e) {T ?.3)&3:
Drill bits
) mqjmeucs

Multimeter
g R ERT

Tachometer
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IV. 3INIITINR 0303 :

6X1=6

Answer the following questions :

16.

17.

18.

19.

20.

21.

V. 39N B 3nen egon :

@éﬁ.@@d@?%@e VOV BT (BRDOTY) 5?Ssﬂ®odo QRTBY TN
IR ?

What are the two types of automobile engine cooling system ?

K%SGGS mwosfmws% 2TO00.

Write the use of spanner.

SERHBRY P TY,  NVTOIRENTOT  CINJYTRTTR TR @Y
QUTFTEINTR, BHOR.

Name any two measuring tools used in automobile.

TITBIT GOV BT, AOVRITDN VTR RIRTOTYTO w2080, 2% ?

Regular oil change is important for a vehicle. Why ?

DIBIT BB, AN SNTITRYLIETT W00WN,TD F,3ONEY
SRR ?

What are the precautions to be taken during vehicle washing ?

O3NTR)TOTTR ATRED E30T° - ¢3¢ @é}mﬁd (aﬁ@{edeeﬁa@ )T S9R.

Mention any two top-10 innovations.

6 X2=12

Answer the following questions :

22.

6:9%665%3665 aqﬁarmfaﬂ\g{ mgj INE.

List the functions of Alternator.
(S[E]

&5 [OR
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VI.

23.

24.

25.

26.

27.

37 ST AFMIRY T IR

List the types of stub axles.

THIT 2,395 030 WOLICDOTT &0 WWOR.
J RIS ™ =t
Explain bottoming in suspension system.
&5 [OR

RRB® B, 03 CINWYTOTIR TR TTRTI), DTOR.

w )

Explain any two principles of suspension system.

B0, O (IR) 1T, ITE00.

Draw the diagram of hammer.

QTR FPeAT, OFF N0 TIBING BFF T FBFTIOTRNS. Teri ?

Two post lifts are helpful for servicing a vehicle. How ?

OTIT 38 (FRS0L) B AODRTTN WHTCWRIERD. OF ?

Coolant of a vehicle should be changed at regular intervals. Why ?

M9, BT FeFO3 TV, 30080 L0oINTTY SR

Mention the four important aspects of customer care.

3:39N3 B, 3en ewgon : . 4x3=12

Answer the following questions :

28.

S 0BCF TRee3d faoa%é’gﬁ 25@35;% W3, mr{mf&;& nOTOER.

Draw the diagram of Wankel rotary engine and label the parts.
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29. OB FS TS Y THODFITITTIY, QTOR.

Explain the structure and function of calipers.
30. To,TF [RT Xz TR FOWORATOE VY LVUBTFY, 9TBRY
‘&CSS%L DO,

Explain "Know your product" with respect to customer sales care.

31. TSI ATFI 303, 2ITY, ¢0° K, HT® BRVLOON 33,335 0T, DWOA.

Explain tyre pressure monitoring system in vehicle safety
technology.

&5 /OR
BT AOTFTD  TOT,LPTIF FOWORATOZ  HOBTTIL  MoRedew
59357%053&2{ QDROX.
Explain sensitive air bag system related to vehicle safety

technology.

VIL 323903 I3n0f cvgon : 3x4=12

Answer the following questions :

32. WOTIT TP,TOT’ TF’ S WB,FINTIY, WIWO.

Write the requirements of a propeller shaft in a vehicle.

33. AR NeS w¥,m) WIT, LPNNT) M.

Draw the diagram of screw gauge and label the parts.

&5 [ OR

=
s

g ST PRI’ 288,33, LTAAWD.

Draw the diagram of fly wheel puller.
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34. QY TITIT oW POT* BT WHPORTIN BROFORIT BOINT),
SPA.

Mention the steps that you follow while changing the oil filter of a

vehicle.

&5 [ OR

DY TITIW DT JOT® T WHSOWATN BIROROT TOBNYS)
SRR,

Mention the steps that you follow while changing the air filter of a

vehicle.
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